		Truck	erground and king, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
10701.0 - TRAFFIC CONTROL - LUMP SUM	3.00	\$1,500.00	\$4,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
10801.0 - ROOT CUTTING - CURB AND GUTTER(UNDISTRIBUTED) - L.F.	25.00	\$15.00	\$375.00	\$12.00	\$8.00	\$12.25	\$14.50
10802.0 - ROOT CUTTING - SIDEWALK(UNDISTRIBUTED) - L.F.	25.00	\$15.00	\$375.00	\$12.00	\$8.00	\$12.25	\$14.50
10911.0 - MOBILIZATION - LUMP SUM 20101.0 - EXCAVATION CUT - C.Y. 20219.0 - BREAKER RUN - TON 20221.0 - TOPSOIL - S.Y.	3.00 5660.00 1760.00 1215.00	\$10,175.00 \$8.60 \$12.30 \$3.50	\$30,525.00 \$48,676.00 \$21,648.00 \$4,252.50	\$26,000.00 \$15.22 \$10.00 \$4.00	\$18,450.00 \$16.80 \$10.00 \$4.00	\$7,100.00 \$13.50 \$7.30 \$4.90	\$33,750.00 \$18.50 \$11.70 \$5.40
20303.0 - SAWCUT BITUMINOUS PAVEMENT - L.F.	573.00	\$1.50	\$859.50	\$1.25	\$1.50	\$1.50	\$1.25
20401.0 - CLEARING (UNDISTRIBUTED) - I.D.	25.00	\$12.00	\$300.00	\$25.00	\$25.00	\$25.75	\$25.00
20403.0 - GRUBBING (UNDISTRIBUTED) - I.D.	25.00	\$12.00	\$300.00	\$25.00	\$25.00	\$25.75	\$25.00
20701.0 - TERRACE SEEDING - S.Y.	1215.00	\$1.25	\$1,518.75	\$1.25	\$1.25	\$1.30	\$1.25
21061.0 - EROSION MATTING, CLASS I, URBAN TYPE A - S.Y.	1215.00	\$2.00	\$2,430.00	\$1.90	\$1.90	\$2.00	\$1.90
30302.0 - 7 INCH CONCRETE SIDEWALK & DRIVE - S.F.	750.00	\$4.65	\$3,487.50	\$5.05	\$4.30	\$4.50	\$4.40
30340.0 - CURB RAMP DETECTABLE WARNING FIELD - S.F.	272.00	\$25.00	\$6,800.00	\$25.00	\$35.00	\$42.50	\$25.00
40102.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3 - TON	7340.00	\$12.30	\$90,282.00	\$12.70	\$7.48	\$10.25	\$14.30
40201.0 - HMA PAVEMENT, TYPE E-0.3 - TON	2565.00	\$58.00	\$148,770.00	\$57.96	\$57.96	\$60.00	\$57.96
40211.0 - TACK COAT - GAL.	615.00	\$2.00	\$1,230.00	\$2.00	\$2.00	\$2.10	\$2.00
40231.0 - ASPHALT DRIVE & TERRACE - S.Y.	75.00	\$34.00	\$2,550.00	\$34.00	\$49.00	\$35.00	\$51.00

		Truck	erground and king, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
40367.0 - ADJUST VALVE CASTING METHOD #1 - EACH	30.00	\$445.00	\$13,350.00	\$264.00	\$250.00	\$240.00	\$195.00
40410.0 - CONCRETE SPEED HUMP - S.Y.	210.00	\$56.00	\$11,760.00	\$68.00	\$70.00	\$73.00	\$56.00
20217.0 - CLEAR STONE - TON	700.00	\$13.00	\$9,100.00	\$4.80	\$10.00	\$14.75	\$9.80
21001.0 - EROSION CONTROL PLAN & IMPLEMENTATION - LUMP SUM	3.00	\$200.00	\$600.00	\$1,680.00	\$500.00	\$980.00	\$1,290.00
21002.0 - EROSION CONTROL INSPECTION - EACH	28.00	\$210.00	\$5,880.00	\$180.00	\$400.00	\$310.00	\$400.00
21011.0 - CONSTRUCTION ENTRANCE - EACH	8.00	\$525.00	\$4,200.00	\$210.00	\$150.00	\$120.00	\$480.00
21012.0 - STREET CONSTRUCTION ENTRANCE BERM - EACH	1.00	\$430.00	\$430.00	\$210.00	\$150.00	\$180.00	\$300.00
21013.0 - STREET SWEEPING - LUMP SUM	3.00	\$3,000.00	\$9,000.00	\$2,205.54	\$500.00	\$4,900.00	\$675.00
21015.0 - STREET CONSTRUCTION STONE BERM - EACH	12.00	\$115.00	\$1,380.00	\$198.00	\$150.00	\$120.00	\$300.00
21036.0 - INLET PROTECTION TYPE C MODIFIED - PROVIDE & INSTALL - EACH	36.00	\$50.00	\$1,800.00	\$80.00	\$80.00	\$82.00	\$80.00
21037.0 - INLET PROTECTION TYPE C MODIFIED - MAINTAIN - EACH	72.00	\$20.00	\$1,440.00	\$65.00	\$65.00	\$67.00	\$65.00
21038.0 - INLET PROTECTION TYPE C MODIFIED - REMOVE - EACH	36.00	\$25.00	\$900.00	\$35.00	\$35.00	\$36.00	\$35.00
21056.0 - INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL - EACH	28.00	\$110.00	\$3,080.00	\$160.00	\$160.00	\$160.00	\$160.00
21057.0 - INLET PROTECTION TYPE D HYBRID - MAINTAIN - EACH	56.00	\$25.00	\$1,400.00	\$65.00	\$65.00	\$67.00	\$65.00
21058.0 - INLET PROTECTION TYPE D HYBRID - REMOVE - EACH	28.00	\$25.00	\$700.00	\$35.00	\$35.00	\$36.00	\$35.00

			erground and king, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
40363.0 - ADJUST CATCHBASIN CASTING - RESURFACING - EACH	1.00	\$375.00	\$375.00	\$318.00	\$400.00	\$550.00	\$510.00
50411.0 - 12 INCH RCP STORM SEWER PIPE - L.F.	274.00	\$39.50	\$10,823.00	\$55.23	\$62.00	\$51.00	\$61.50
50741.0 - TYPE H INLET - EACH	22.00	\$1,825.00	\$40,150.00	\$1,404.29	\$1,600.00	\$2,000.00	\$2,050.00
50768.0 - TERRACE INLET TYPE 3 - EACH	2.00	\$2,490.00	\$4,980.00	\$2,895.20	\$3,800.00	\$3,300.00	\$4,600.00
10702.0 - TRAFFIC CONTROL FOR STORM SEWER INSTALLATION - LUMP SUM	3.00	\$1,300.00	\$3,900.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,300.00
10912.0 - MOBILIZATION FOR STORM SEWER INSTALLATION - LUMP SUM	3.00	\$500.00	\$1,500.00	\$3,400.00	\$500.00	\$5,000.00	\$1,650.00
20312.0 - REMOVE CATCHBASIN - EACH	6.00	\$447.00	\$2,682.00	\$360.00	\$375.00	\$450.00	\$430.00
20313.0 - REMOVE INLET - EACH	18.00	\$345.00	\$6,210.00	\$354.00	\$350.00	\$450.00	\$400.00
50211.0 - SELECT BACKFILL FOR STORM SEWER - T.F.	1397.00	\$0.01	\$13.97	\$0.10	\$0.10	\$1.00	\$0.01
50412.0 - 15 INCH RCP STORM SEWER PIPE - L.F.	243.00	\$42.00	\$10,206.00	\$57.29	\$70.85	\$57.00	\$48.90
50413.0 - 18 INCH RCP STORM SEWER PIPE - L.F.	273.00	\$45.00	\$12,285.00	\$60.02	\$73.70	\$59.00	\$51.90
50414.0 - 21 INCH RCP STORM SEWER PIPE - L.F.	581.50	\$46.00	\$26,749.00	\$67.22	\$63.00	\$64.00	\$55.20
50415.0 - 24 INCH RCP STORM SEWER PIPE - L.F.	25.50	\$51.00	\$1,300.50	\$71.10	\$88.80	\$70.00	\$63.20
50723.0 - 3'X3' STORM SAS - EACH	1.00	\$4,700.00	\$4,700.00	\$2,994.60	\$2,100.00	\$3,000.00	\$4,130.00
50724.0 - 4'X4' STORM SAS - EACH	5.00	\$4,300.00	\$21,500.00	\$3,492.46	\$2,700.00	\$3,900.00	\$4,750.00
50792.0 - STORM SEWER TAP - EACH 50906.0 - FURNISH AND INSTALL CIPP	8.00	\$399.00	\$3,192.00	\$726.71	\$800.00	\$920.00	\$870.00
TO REHABILITATE 18-INCH STORM MAINS - LF	673.00	\$54.55	\$36,712.15	\$52.00	\$52.00	\$61.00	\$54.66

K ens	0	Truck	rground and ing, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50908.0 - FURNISH AND INSTALL CIPP TO REHABILITATE 24-INCH STORM MAINS - LF	473.00	\$75.76	\$35,834.48	\$75.00	\$75.00	\$72.00	\$75.91
90030.0 - FIELD BEND (18") - EACH	1.00	\$580.00	\$580.00	\$820.76	\$1,240.00	\$630.00	\$775.00
90031.0 - FIELD BEND (24") - EACH	2.00	\$315.00	\$630.00	\$979.97	\$1,440.00	\$670.00	\$820.00
50722.0 - 6'X6' CATCHBASIN - EACH	2.00	\$11,915.00	\$23,830.00	\$5,316.23	\$4,600.00	\$6,500.00	\$9,310.00
10704.0 - TRAFFIC CONTROL FOR SANITARY SEWER INSTALLATION - LUMP SUM	3.00	\$1,325.00	\$3,975.00	\$1,325.00	\$1,325.00	\$1,400.00	\$1,325.00
10914.0 - MOBILIZATION FOR SANITARY SEWER INSTALLATION - LUMP SUM	3.00	\$500.00	\$1,500.00	\$24,200.00	\$500.00	\$5,000.00	\$36,210.00
20311.0 - REMOVE SEWER ACCESS STRUCTURE - EACH	14.00	\$445.00	\$6,230.00	\$481.77	\$500.00	\$440.00	\$520.00
20331.0 - ABANDON SEWER ACCESS STRUCTURE - EACH	1.00	\$275.00	\$275.00	\$264.00	\$400.00	\$450.00	\$500.00
20335.0 - ABANDON SEWER PIPE WITH SLURRY - C.Y.	9.00	\$184.00	\$1,656.00	\$306.08	\$250.00	\$330.00	\$420.00
50103.0 - RECONSTRUCT BENCH AND FLOWLINE(S) - EACH	1.00	\$470.82	\$470.82	\$1,017.29	\$1,250.00	\$980.00	\$540.00
50201.0 - ROCK EXCAVATION (UNDISTRIBUTED) - C.Y.	30.00	\$1.00	\$30.00	\$90.00	\$50.00	\$50.00	\$75.00
50202.0 - DEWATERING TYPE II - LUMP SUM	1.00	\$1.00	\$1.00	\$102.00	\$500.00	\$980.00	\$750.00
50212.0 - SELECT BACKFILL SANITARY SEWER - T.F.	4990.50	\$0.01	\$49.91	\$0.10	\$0.10	\$0.50	\$0.01
50301.0 - 8" PVC SEWER PIPE (SDR 35) - L.F.	2292.00	\$54.00	\$123,768.00	\$72.02	\$66.55	\$60.00	\$48.80
50304.0 - 15" PVC SEWER PIPE (SDR 35, SDR 26) - L.F.	1209.50	\$118.00	\$142,721.00	\$121.56	\$141.50	\$140.00	\$176.20

			erground and king, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.
ltem	Quantity	Price	Extension	Price	Price	Price	Price
50353.0 - SANITARY SEWER LATERAL (SDR 35, SDR 26) - L.F.	1489.00	\$38.00	\$56,582.00	\$29.39	\$58.50	\$13.00	\$51.50
50354.0 - RECONNECT SANITARY SEWER LATERAL - EACH	57.00	\$155.00	\$8,835.00	\$1,118.93	\$1,200.00	\$2,600.00	\$1,525.00
50361.0 - WASTEWATER CONTROL - EACH	3.00	\$3,900.00	\$11,700.00	\$1,800.00	\$3,000.00	\$2,000.00	\$2,120.00
50701.0 - 4' DIA SAS - EACH	26.00	\$2,330.00	\$60,580.00	\$2,358.91	\$2,920.00	\$4,200.00	\$3,280.00
50771.0 - INTERNAL CHIMNEY SEAL - EACH	1.00	\$450.00	\$450.00	\$417.98	\$450.00	\$400.00	\$400.00
50390.0 - SEWER ELECTRONIC MARKERS - EACH	126.00	\$31.00	\$3,906.00	\$18.00	\$30.00	\$38.25	\$43.00
50357.0 - COMPRESSION COUPLING - EACH	1.00	\$370.00	\$370.00	\$495.13	\$400.00	\$500.00	\$400.00
50791.0 - SANITARY SEWER TAP - EACH	9.00	\$1,020.00	\$9,180.00	\$929.29	\$1,000.00	\$2,000.00	\$905.00
10703.0 - TRAFFIC CONTROL FOR WATER MAIN INSTALLATION - LUMP SUM	4.00	\$350.00	\$1,400.00	\$350.00	\$2,000.00	\$360.00	\$350.00
10913.0 - MOBILIZATION FOR WATER MAIN INSTALLATION - LUMP SUM	4.00	\$500.00	\$2,000.00	\$12,700.00	\$1,500.00	\$20,000.00	\$19,475.00
40381.0 - REMOVE & REPLACE CONCRETE CURB & GUTTER, MACHINE PLACE MORE THAN 100 CONTINUOUS FEET - RESURFACING - L.F.	1055.00	\$14.65	\$15,455.75	\$21.65	\$26.00	\$44.25	\$27.30
70002.0 - FURNISH AND INSTALL 6 INCH PIPE & FITTINGS - L.F.	395.00	\$87.00	\$34,365.00	\$92.22	\$79.15	\$83.00	\$118.10
70003.0 - FURNISH AND INSTALL 8 INCH PIPE & FITTINGS - L.F.	3805.00	\$77.50	\$294,887.50	\$86.54	\$93.47	\$64.00	\$86.40
70005.0 - FURNISH AND INSTALL 12 INCH PIPE & FITTINGS - L.F.	30.00	\$190.50	\$5,715.00	\$151.67	\$201.00	\$110.00	\$232.00

		Truck	erground and king, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	Parisi Construction Co., Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70006.0 - FURNISH AND INSTALL 16 INCH PIPE & FITTINGS - L.F.	455.00	\$134.00	\$60,970.00	\$146.54	\$130.50	\$100.00	\$136.70
70031.0 - FURNISH AND INSTALL 6-INCH WATER VALVE - EACH	22.00	\$1,502.00	\$33,044.00	\$1,236.39	\$1,530.00	\$1,900.00	\$1,200.00
70032.0 - FURNISH AND INSTALL 8-INCH WATER VALVE - EACH	19.00	\$1,979.00	\$37,601.00	\$1,670.12	\$2,090.00	\$2,300.00	\$1,600.00
70034.0 - FURNISH AND INSTALL 12- INCH WATER VALVE - EACH	1.00	\$3,298.00	\$3,298.00	\$3,000.18	\$3,670.00	\$3,800.00	\$2,920.00
70035.0 - FURNISH AND INSTALL 16- INCH WATER VALVE - EACH	1.00	\$3,418.00	\$3,418.00	\$2,514.04	\$4,220.00	\$4,500.00	\$2,750.00
70040.0 - FURNISH AND INSTALL HYDRANT - EACH	11.00	\$3,344.00	\$36,784.00	\$3,820.06	\$3,845.00	\$3,400.00	\$3,260.00
70053.0 - REPLACE 1-INCH COPPER SERVICE LATERAL - L.F.	60.00	\$43.50	\$2,610.00	\$55.84	\$75.30	\$110.00	\$177.00
70056.0 - EXTEND AND RECONNECT 1- INCH SERVICE LATERAL - L.F.	320.00	\$104.00	\$33,280.00	\$70.01	\$62.25	\$100.00	\$158.50
70059.0 - DISCONNECT / RECONNECT 1- INCH SERVICE LATERAL - EACH	29.00	\$662.00	\$19,198.00	\$591.18	\$1,200.00	\$730.00	\$1,315.00
70070.0 - SELECT FILL - SAND FOR WATER - L.F.	4950.00	\$0.01	\$49.50	\$0.10	\$0.10	\$0.50	\$0.01
70080.0 - CUT-IN OR CONNECT TO EXISTING WATER SYSTEM - EACH	14.00	\$1,020.00	\$14,280.00	\$1,624.35	\$1,200.00	\$1,600.00	\$1,450.00
70081.0 - FURNISH EXCAVATION AND DITCH FOR LIVE TAP - EACH	2.00	\$582.00	\$1,164.00	\$1,554.72	\$1,500.00	\$2,000.00	\$725.00
70082.0 - CUT OFF EXISTING WATER MAIN - EACH	2.00	\$1,025.00	\$2,050.00	\$1,339.24	\$2,000.00	\$1,600.00	\$1,060.00
70090.0 - ABANDON WATER VALVE BOX - EACH	21.00	\$60.00	\$1,260.00	\$117.92	\$250.00	\$240.00	\$130.00
70091.0 - ABANDON HYDRANT - EACH	8.00	\$291.00	\$2,328.00	\$364.12	\$400.00	\$240.00	\$815.00
70092.0 - ABANDON WATER VALVE ACCESS STRUCTURE - EACH	1.00	\$444.00	\$444.00	\$296.85	\$400.00	\$450.00	\$365.00

		S&L Underground and		Capitol Underground,	Speedway Sand &	Parisi Construction	R.G. Huston Company,
			king, Inc.	Inc.	Gravel Inc.	Co., Inc.	Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70101.0 - FURNISH AND INSTALL STYROFOAM - L.F.	152.00	\$10.00	\$1,520.00	\$9.69	\$10.00	\$19.75	\$13.00
20314.0 - REMOVE PIPE - L.F.	977.50	\$33.00	\$32,257.50	\$21.37	\$20.00	\$16.00	\$18.50
20336 - PIPE PLUG - EACH	13.00	\$110.00	\$1,430.00	\$457.29	\$300.00	\$120.00	\$215.00
40382 - REMOVE AND REPLACE CURB					·		
AND GUTTER, HAND PLACED -	5045.00	\$26.80	\$135,206.00	\$29.35	\$33.00	\$43.50	\$31.15
RESURFACING - L.F. 40391 - REMOVE AND REPLACE 5" THICK CONCRETE SIDEWALK -	7960.00	¢c 14	¢48.260.40	¢6 51	¢6.25	<u>ዮ</u> ፖ ዐዐ	¢5 90
RESURFACING - S.F.	7860.00	\$6.14	\$48,260.40	\$6.51	\$6.25	\$7.90	\$5.80
40392 - REMOVE & REPLACE 7" THICK							
SIDEWALK AND DRIVEWAY -	4100.00	\$6.30	\$25,830.00	\$7.08	\$6.75	\$8.10	\$5.95
RESURFACING - S.F.							
50226.0 - UTILITY TRENCH PATCH TYPE III - S.Y.	952.00	\$40.00	\$38,080.00	\$13.89	\$36.00	\$38.50	\$43.50
50801.0 - UTILITY LINE OPENING - EACH	12.00	\$500.00	\$6,000.00	\$564.00	\$450.00	\$620.00	\$440.00
		÷••••••	+ - , - 00.00	÷== 100	÷	÷==0100	÷ · · 3.00

Contract Totals

\$2,008,517.73 \$2,335,654.59 \$2,339,957.10 \$2,451,754.00 \$2,661,786.69